SHIFOAFHF 5 (Bith=)
= BEER 5 | i FE (EE L I588)
1=t X BOX | BOHEX | TEME | B & A E | keHE{fi | HESEMM
1 RS |[REA BE% 1,015,000 303 422 2,405 3,350
2 BEHS |[F1EE |REA 1,013,000 288 407 2,489 3,517
3 BE#S |RBEA BETL 996,000 302 430 2,316 3,298
4 RS |REA =053 912,000 302 392 2,327 3,020
5 RS | REA TR 910,000 298 386 2,358 3,054
= BEER 5 | i % (It £ (I588)
=t 5% BOX | BOHEX | TEME | B & A E | keHE{fi | HEsE{M
1 &2z = EER EETE 907,000 246 235 3,860 3,687
2 EE#% EZE ZRA 900,000 294 283 3,180 3,061
3 ERAER ZRA =053 874,000 311 325 2,689 2,810
4 ERAER EER TIEBA 861,000 283 328 2,625 3,042
5 FRAER HEE &% 833,000 282 281 2,964 2,954
TR R ER S [ HEf(E S FE% L {1588)
SR BB M | xelE | &IEEE | FHMEE | FHEE| FHAE | kel | HEEM
EE# 18|  831,000] 455,000 674,834 288 320 2,109 2,343
FRAER 14|  879,000| 585,000 727,928 293 341 2,135 2,484
EEREE 13| 798,000] 513,000 664,385 292 324 2,051 2,275
[ E 5 12| 1,015000{ 640,000 872,584 288 377 2,315 3,030
B2 8| 810,000 657,000 735,125 283 324 2,269 2,598
A RIER S {EAS (I SE%L E(I58E)
S| BB W | RelE | RIEME | FHEE | THEE | FHAE| kBl | HEE
A ] 14| 709,000f 507,000 638,857 301 312 2,048 2,122
XERE 14| 764,000] 435,000 633,928 303 296 2,142 2,092
EROKER 12| 874,000 680,000 768,000 292 319 2,408 2,630
EE % 11| 900,000{ 602,000 732,636 304 307 2,386 2,410
E= i3 7| 7350000 621,000 660,143 297 303 2,179 2,223
g 6/ 726,000 631,000 673,834 305 338 1,994 2,209
BHESTETRIOBE
% Al B 3 | e | RIEME | FHMEE | FHaE | THAE | keBff | BEE(H
=8 4f 705,000 350,000 593,000 281 304 1,951 2,110
H9 0 0 0 0 0 0 0 0
it 4 705,000 0 296,500 281 304 1,951 2,110
[EEEEF] L DORE
Al % B0 | BOMEAX | TEME | B & A E | keBif | HESEM
£ |IWRE &F1@ FE2EEE 843,000 288 312 2,702 2,927
HY  |WRE F1EE |RE'A 664,000 306 292 2,274 2,170




